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3.6. Oblicz:

a) log63 + log612 ;           b) log42,5 + log4256 ;         c) log250 + log 40 ; 
d) log49 – log418             e) log296 – log23 ;                f) log51000 – log540 ;
g)
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;           h) log0,125 + log 0,008;  
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3.7. Oblicz:

a) 2log5 + log4 ;               b) log648 –  3log62 ;            c) 3log0,5 + 3log2 ;
d) 
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3.8. Sprawdź, która z podanych liczb jest równa log36:

a) 2log18 ;       b) log40 – 2log2 ;       c)  2log4 – 3log2 ;       d) 2log6 – log1 .

3.9. Wiedząc, że  log2 = m  oblicz:    a)  log16 ;    b) log5 ;    c) log125.
3.10*. Wiedząc, że log25 = k   oblicz:

a) log210 ;        b) log20,01 ;      c) log20,4 ;     d) log26,25 ;      e) log2
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3.11*. Oblicz:   a) log5(log20 + log22 ;            b) log35 ( log2581
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